it pem—
W Q YeThIpe JICCATUIHBIX 3HAKA, TIOPSIIOK OTiepariuii

Nwms: Jara: Onenka:
6,6 -6,2x6,2+5= 6,8+3,3x5,9-4,8=

2-4,5x2,1+4,2= 30x2,7+5-6,3 =

20x2,8+5+4,4= 6,9+3,7—2,4x2=

3—-5%x3,8-2,3= 9x4,5+3+3,3=

12x6,7+2+5,1= 6,2+ 18x5,4+6=
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it pem—
W Q YeThIpe JICCATUIHBIX 3HAKA, TIOPSIIOK OTiepariuii

Nwms: Jara: Onenka:
6,6 -6,2x6,2+5=-26.84 6,8 +3,3x5,9-4,8=2147
2-4,5x2,1+4,2=-325 30x2,7+5-6,3=99
20x2,8+5+4,4=15.6 6,9+3,7-2,4x2=58
3—-5%x3,8—2,3=-183 9x4,5+3+3,3=16.8
12x6,7+2+5,1=453 6,2 +18x5,4+-6=224
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